’ ’ [ [
+ V- 3+4l, 9, l2 + 1

@1; 7 7 7 7




]./R]

7t EHES

3) 3

Sh= A% g o]

@ 4

&

3 5



JFI

v

1L

o

(1= xi)(1 - i) 7h 2557t S A4 1 o] gha Astefeh



R

=
|
e
B>
>
i)
sk
=
iu)
ille
ol
go
flo
L

@ a+pi=0°"a=0, =0
@ a+pi=r+6i°lHa=r =6
® ?+p2=0°"a=0,8=0
@ ap=0°Ha=0FEL=0

B a2 <0



1+ 2i 1-2i _
B w=l142i,y=-0 = T2 ol 9] G Y
= -

® -1+3i @ -1-2i @ -1+42i
@ —-1-i G -1+



6. Aas gt 14 (1) (1) 1 (D) e

i
2% Jstelet. (4 i= v-1)

=
c

e
c



T, x=14 VBiy=1- V3 A0 2242 O] g Ffelet

YR
=%



8.

a=1+i,=2-i % BIELSE

ap + af o 27

D 0 @ 3 B® 7-2i



\/ﬁ \/501 0o = 00 »
— =/ 2 5 22727
N bEEH,r’]' B A

@ a=0,b<0 @ a>0,b>0 ®a=0,b>0
@ a<0, b<0 ® a<0,b<0



10. WA (a2-3)x—1=a(2x+1) 9] 37} 24512 7] 95t a ] FHe
Fstetet,

s
=¥



